October 3, 2019

1. If 3x — 2 = 8, what is the value of 6x + 1?

3K=10

Gx= 20
brtl=

2. Find the ordered pair (x, y) that satisfies the system of equations below.

(2)-Y=3 dé&ﬁ;w

cx-_;~1=<1
4-y=3 R =22
_4\, ~<|, { T
: — X=2
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x; '(1. i
3. Line [ hasslope of -2. If it passes (0, k) and (2, 0), find k.
K-0 K =2
M="e= 2 "7 7

4. Given: A = 2B Solve for B.

T 3+5B’
28= 3/ +5AB
-bHAB —-5AR
28-6AR =3A
B(2-5A)= 3A

2-5A  275f

_ 2H
B= >S5/
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5. The graph of a line in the xy-plane has sIop@’n(’j-cgntains the point ‘2! 9%. The graph of
a second line passes through the points (3, 4) and (4, 3). If the two lines intersect at the
point (a, b), what is the valueof a+ b ?

H @

@ (1)

%
38 S B0 e 2 R+b=

X e bXt c=O

6. What is the sum and product of the roots for 3x% + 11x = 6?

o (Cu) XHIK-6=0
S’-a: 3

-5 2@
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7. Express the given expressions with quotient and re




